X SREMELE (200, 300% 5

BFHR

BHa—Fk FE4 HAL BHaE Q Y HE
MTH. A201 RECARERF — 1-1-0 1Q TR, $RGE), )
MTH. A202 REARR 1-1-0 2Q C O, g (E), &I
MTH. A203 RECARGR = 1-1-0 3Q T, B, AR (SR
MTH. A204 PRE AR 2 DU 1-1-0 4Q SR, RS, B
MTH. A211 I 22 i 55— 1-0-0 1Q A (k)
MTH. A212 HRIE 22w e — 1-0-0 2Q M = ()
MTH. A301 REFHE— 1-1-0 1Q T (), B (ER)
MTH. A302 R — 1-1-0 2Q COnEE GO, B (R
MTH. A331 P& ot i 2-0-0 3Q (k)
MTH. B201 NrAHZE R Em e — 1-1-0 1Q ° KALMAN, 74
MTH. B202 PrFAZEHRR S — 1-1-0 2Q ° KALMAN, {74
MTH. B203 PEARZE RS = 1-1-0 3Q TR,
MTH. B204 PEFEZE R S I 1-1-0 4Q COERECOA), T
MTH. B211 Bl PR 5 — 1-0-0 3Q i o)
MTH. B212 Bl PR 2 — 1-0-0 4Q L o)
MTH. B301 Bl 25— 1-1-0 1Q A%
MTH. B302 Sefr i 1-1-0 2Q K%
MTH. B331 P BES S 2-0-0 3Q JiR
MTH. B341 R IRES 2-0-0 4Q L5297
MTH. C201 fEAT AR o — 1-1-0 1Q CORE, =GB
MTH. €202 AT AR o 1-1-0 2Q CRE, =GB
MTH. €203 f AT~ WA o = 1-1-0 3Q CORJE, BOR (FF)
MTH. €204 AT =W 5 DU 1-1-0 4Q T OBRE, YUK (FF)
MTH. C211 I PR AT i o — 1-0-0 3Q /1N, (BH)
MTH. €212 I PR AT P o — 1-0-0 4Q /N, (B
MTH. €301 LRI — 1-1-0 1Q Il
MTH. €302 RIS — 1-1-0 2Q Il
MTH. €305 FEfRAT o — 1-1-0 1Q AN o
MTH. €306 Sy 1-1-0 2Q /NEF S
MTH. €331 eSSy T 2-0-0 1Q I
MTH. €341 oy e AR — 1-0-0 1Q -
MTH. €342 oy iR AR o — 1-0-0 2Q e
MTH. €351 B BT 2-0-0 3Q AN o
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BHa—Fk FHH4 HLAL BHaE Q Y HE
MTH. C361 e 5w 2-0-0 4Q Y
MTH. 2381 Weraycs b ($5FR) 0-0-2 10, 3Q, | FFE (2022 FE 4Q IK3#)
4Q
MTH. 7385 K S SRR 5 S 0-0-6 1~20 | %#%8
3~4Q
MTH. 7388 FhRrERENIE (BUER) 0-0-6 1~2Q | £#HE
MTH. 7380 TR ERRENIE S (BUFER) 0-0-8 RIE HHE
MTH. 7399 FERERE e 7 b (HER) 0-0-6 3I~4Q | BHA
<A RHEERL A >
WBR R
BH=a—Fk FHH 4 HLAL BHE Q Y HE
MTH. T201 (PHY.Q206) | f#dT /1% G 3%) 2-0-0 2Q Zqil
MTH. T202 (PHY.Q207) | &F 7177 AM GiEzR) 2-0-0 3Q P H (+h)
MTH. T211 (PHY. Q216) | fifthfr /12 (i) 0-1-0 2Q © RS, Al
MTH. T212 (PHY.Q217) | &1 AP () 0-1-0 3Q ©OHERF, VHH (+h)
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